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Question paper is divided into two Parts : Part-I (Subjective type) and Part-II

(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of

Examination and last 1 hour 25 minutes of Examination will be given for

Part-II i.e. question paper of Part-II will be provided before 1 hour 25 minutes of
the end of Examination.

Total questions in question paper of Part-I are 13 and of Part-II are 40.

o YT FF FC & G F 5T FT-99 7 gRT g7 8 o F97 13

Please make sure that the printed pages in this question paper of Part-I are 8 in
number and it contains 13 questions.
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F97-G 7 qllz & # T ’RE T Bl TR F G FuT-giad & G-y 97 fidl

The Code No. on the right side of the question paper should be written by the
candidate on the front page of the answer-book.

P 797 F FT G 5@ BT @ G, 9T BHE AT g

Before beginning to answer a question, its Serial Number must be written.
FAC-GieaH @ i # @Il G/ T 7 Sig

Don’t leave blank page/pages in your answer-book.

F-giRTE F SRTT FE S e T B s sEsTEarare & i@ siv R gaw T
FIe

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

gitarelf GruET Tr do FIT-UF GT HFST @

Candidates must write their Roll Number on the question paper.

YT TS5 B FAY 3 @ §F 78 GERET FT T B 95797 q0 7 78 & v\ & I 59
g 7 g o @&y e 7@ B aam

Before answering the question, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.

GH R/ :

General Instruction :

(i) o weT silard &

All questions are compulsory.
(i) §7 7e7-99 g7 diT @vs B, 7 fF s g G @ E

This question paper consists of three Sections which are divided as :
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GO ITEUE AL G5 GF 7T 5 WT 3 JAF FT 2 5F # 81

Section A : This Section consists of 5 questions from 1 to 5, each of
2 marks.

% T30 G% 76 710 7% T7 5 57 5, Ja® HI7 3 6% & 81

Section B : This Section consists of 5 questions from 6 to 10, each of
3 marks.

U8 § 59 @ 11 @ 13 % ZT 3 597 B, H9F HT 5 &F & 8

Section C : This Section consists of 3 questions from 11 to 13, each of
S marks.

G § & g 57 § gwaiE By RF 17 & g4 G dad @b g97 & g 2
There are internal choices are given in all questions of Section C. But you

have to opt only one of them.

qus - o [M.M.: 10
SECTION - A

1. foam @ 2x? +ke+3=0 # k % QAT A9 10 H6NQ F 360D & I& g A 2

Find the value of k for quadratic equation 2x2 + kx+3 = 0, so that it has two

equal roots.

2. 39 g & feais s $ifg, st fbger (-1, 7) X (4, -3) & FoM T t@mEve &
2:3% aguw # famiorg Fwam 2 2

Find the coordinates of the point which divides the join of (-1, 7) and (4, -3) in
the ratio 2 : 3.
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3. sin 60° cos 30° + sin 30° cos 60° H AN T HIT| 2

Find the value of sin 60° cos 30° + sin 30° cos 60°.

4. U% g0 B IQUier # SH%GA S Fierg, Rredt oy 22 om B 2

Find the area of a quadrant of a circle whose circumference is 22 cm.

5. @ 3 § 3 @ X 5 Fell e Fl 3 AA A ¥ UF T qGgSA el i B 6
yifesar & & & g (i) @ & ? (i) aw A9 A7 2

A bag contains 3 red balls and 5 black balls. A ball is drawn at random from
the bag. What is the probability that the ball drawn is (i) red ? (ii) not red ?

v - § [M.M.:15
SECTION - B
6. Meaw gliHE & IW F & P : 3
B B B
3 2

Solve the pair of linear equations :

S=E=3, —+—=6
2
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7. g8 A. P.sid @i fSraer fEw 9€ 16 SfiX 74T ©® 53 9w 4 12 IR B 3
Determine the A. P. whose third term is 16 and the 7th term exceeds the 5th
term by 12.

8. X3y W T g 710 AW 5 (2, -5) 3T (-2, 9) F TIIH B 3

Find the point on x-axis which is equidistant from (2, -5) and (-2, 9).

9. e T AWl WS § HUE 24 cm X FER BFN 6 cm T T 9% @1 T B
U T A W M B AR A aGa A e B Ee S i 3

A cone of height 24 cm and radius of base 6 cm is made up of modelling clay.

A child reshapes it in the form of a sphere. Find the radius of the sphere.

10. % I8 & 90 %P (discs) &, B9 9 1 § 90 7% TN &ifpa F1 A WA F 7 @
fowr argegan Fprell ST ®, O TS Wi s Hieg % 39 B9 W oifEa &rh () @
3% P TEA, (i) T T T GEm 3
A box contains 90 discs which are numbered from 1 to 90. If one disc is drawn

at random from the box, find the probability that it bears (i) a one digit

number, (ii) a perfect square number.

g - 9 [M. M. :15
SECTION-C

11. 79 & #1 369 26 99 qgI 21 ITH AY (a9 #) F PEGT 79 § &9 ¥ 9gEg 360 A
S #Y H G0N g A B 5

Manu's mother is 26 years older than him. The product of their ages (in years)

3 years from now will be 360. Find Manu's present age.
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HIAT

OR

3wl @ AT 26 B oY UH dEw q@d wen # 4 T ¥ §ea aw P

The difference between two numbers is 26 and one number is three times the

other. Find the numbers.

12. = #ifg f 5
(cosec B-cot 9]2 - E
1+cos B
Prove that :
(cosec B8-cot 9]2 -
1+cos®

Hear
OR

AT o | TF U3 T ST B S TET ST AN 3W aXE § o # [ 9w Ry FH e
® g T 2 SN TEh GE 30° H VT g9 B U5 W UK &g F g, T Iy
farEY S # G B, 8 m ® U B FAE T HIT

A tree breaks due to storm and the broken part bends so that the top of the
tree touches the ground making an angle of 30° with it. The distance between
the foot of the tree to the point where the top touches the ground is 8 m. Find
the height of the tree.
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13. fr=ifofad @l Bl sroara & o Ry ad & st ¢ AFET 1 omg St < @

Kilk (ast #) 5-15 15-25 | 25-35 | 35-45 | 45-55 | 55-65
AP /i g= 6 11 21 23 14 5
it 1 I T i 5

The following table shows the ages of the patients admitted in a hospital

during a year :

Age (in Years) 5-15 | 15-25 | 25-35 35-45 45-55 | 55-65

Number of Patients 6 11 21 23 14 5

Find the mode of the given data.

Hdr

OR

U% A eewe IR § 100 HAM (surnames) f@Q TG F R IR wgET ofdsh
qUETE & el W GO W FrlaieT IRERAr §e WS BT

I ger -4 4.7 7-10 | 10-13 | 13-16 | 16-19
R B HE 6 30 40 16 4 4
oMl § IS A B GG ST it
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100 surnames were randomly picked up from a local telephone directory and

the frequency distribution of the number of letters in the English alphabets in

the surnames was obtained as follows :

Number of Letters

1-4

4-7

7-10

10-13

13-16

16-19

Number of Surnames

6

30

40

16

Determine the median numbers of letters in the surnames.



